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B.Sc./B.Sc. B.Ed. (PART-II) EXAMINATION 2020

CHEMISTRY

Paper Second
(Organic Chemistry)
Time : Three Hours
Maximum Marks : 33
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BT AR B |

Attempt all the five questions. One question from each
Unit is compulsory.

SHIg—1

(UNIT—1)

@) fr=foRad @ Sgd &8 oreligar & A ¥ forlag @ 1

fhetd, p-Tseifherd, o-fhard, 2, 4-SBAGIhATA
Arrange the following in increasing order of acidity :
Phenol, p-nitrophenol, o-cresol, 2, 4-dinitrophenol
fopeter | freaferRad &1 MU & Uit ot ? 3
() Sferaferd e

(i) TTSATSSIhAcl

How will you obtain the following from phenol ?

(1) Salicylic acid

(11) Trinitrophenol

P.T.O.
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[2]
@) Tased » A= sifeiiaxer  sfafhamet @
foTRgy | 3

Write the different oxidation reactions of glycol.
SRACAT
(Or)

@) 9 fovia o Affhar PCL, & anfdag & 8

dr &I IS BT & 1

(i) FARIZIT

(i) 1, 2-SEFARISSH

(iii) TRITFARIZAA

(iv) 1, 3-SSdaRIsIH

The main product obtained when glycerol reacts

with exess of PCls is :

(1)  Chloroethane
(11) 1, 2-dichloroethane
(111) Hexachloroethane

(iv) 1, 3-dichloroethane

(@) AT @ Wl Yaial & aviE BT | 3
Explain the acidic nature of phenol.
(@) frfeRad w fewforr forfe - 3

G) faferames dvergor

(i) ST 3R

Write notes on the following :
(1) Williamson’s synthesis

(11) Crown ether
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[3]
ghIE—2

(UNIT—2)
fosglge fAefoRad & O @9 O fifhar =gl
? 1
G) ufds arfafsrar
(i) DFSIRI arfafsar
(i) Ucsliel Fo+
(iv) Srd-oter arfafshar

Which of the following reactions is not given by
benzaldehyde ?

(1) Perkin reaction

A3

(11) Cannizzaro’s reaction

(111) Aldol condensation

(iv) Knovenagel reaction

HRUT ATSY 4

() dEMd ARE AR ATES  rfAfha
ad B

(i) Ulcsglgs Ud @ICH & o-BISglo WA

AT TR & BT 2 |

Give reason :

(1) Carbonyl compounds give nucleophilic
addition reaction.

(11) oa-hydrogen atom of aldehydes and ketones are
acidic in nature.

ferfetRae Srffsharat @l gor ST 2
(i) 2CHsCHO —2L
(i) CH;COCHj; + Br CH,COO C,Hs —=—

P.T.O.
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Complete the following reactions :

(i) 2C(H,cHO—2L

(i) CH;COCH; + Br CH,COOC,H; —=—
31erdr
(Or)

(@) URfesgEe H,/Ni gRT 37e’d WR ol @ 1

(i) U Uodlard

(i) THCH 3

(iii) TRreld

(v) 399

Acetaldehyde on reduction with H,/Ni gives :

(1)  Ethyl alcohol
(i1) Acetic acid
(i11) Ethylene

(iv) Ethane

(§) AT g e ? 2
() WrHfcsess, M feds o Ifafha
T B |
(i) THICH, gTsgio ARFTgS ¥ fhar axar 2|
What happens when ?

(1) Formaldehyde reacts with Grignard reagent.
(i1) Acetone reacts with hydrogen cyanide.

(@) fr=faRaa sifafeparen o fhafafer Sy (@8 <)
4
() fafew srfwfsan
(i) HRAF-ISB-aef U=+
(iii) Goh-THTR AT
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Give mechanism of the following reactions (any
two) :

(1)  Wittig reaction

(i1) Meerwein-Pondorof-Verley reduction

(111) Wolff-Kishner reduction

gPIE—3
(UNIT—3)
frferRaa JrfAfharall &I gl I 1
(i) RCONH, — B

(i) RCOOH + NH; —"

Complete the following reactions :

(i) RCONH, — 08

A 4

(i) RCOOH +NH, —1"

f=forRed § & @19 U9t 3t ® UG @ ? 3
() THIfed o 9 FaRIvHICd 3

(i) IIS®H 3 UG p-ASed~Igd 3

Which of the following is stronger acid and why ?

(1)  Acetic acid and Chloroacetic acid

(i1) Benzoic acid and p-nitrobenzoic acid
PBIaifdIfoTs 3l Pl fAdTai Tl &l feharfafer
B FHSY | 3

Explain the mechanism of decarboxylation of
carboxylic acids.

3rerdn
(Or)
wiifed e 9 fr=foRad Aiffral @1 oMy o9 g
PR ? 2
G) urefie 0 (i) Todd

P.T.O.
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How will you obtain the following compounds from
acetic acid ?

(1) Primary amine (11) Alkane
SIShIEAeTh Tl TR HAT Tl FoicildRd &
TqTg BT U BIFTT | 2

Explain the effect of heat and dehydrating agents on
dicarboxylic acids.

TR & Ml AT R Sfelelveged R Udh femof]

feTRgy | 3

Write a note on acidic and basic hydrolysis of ester.
355|§—4

(UNIT—4)
AESITedh Sn/HC1 & 1T fohal R TaT © 1
(i) Ucdleidl

Gi) e e

(i) fgda® wiA

(iv) SUgad H 9§ PIg 78l

Nitroalkane on reaction with Sn/HCI gives :

(1)  Alcohol

(i1) Primary amine
(111) Secondary amine
(iv) None of the above

URIAUAIA, Ul W Udel &R 8 | W BIfviT | 3

Ethylamine is stronger base than aniline. Explain.
frferRaa JrfAfharall &I gl I 2

o

@ Hy80,
HNO;

(i) C,HNO, —Z"
NH,C1
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Complete the following reactions :
o

@ H,SO,
HNO;

(i) C,HNO, —2*
NH,CI

3perar

(Or)
SIEUGICIARTT ¥ M0 T 9asid & 2 Soid
SEUSITIH FARGS &I W ATl &1 quid
PITOTY | 3

What do you understand by diazotization ? Explain
coupling reactions of benzene diazonium chloride.

g H Afeeel gfovemus sfufear @
foranfafer @1 auig =@y | 3

Explain the mechanism of nucleophilic substitution
reaction in nitrobenzene.

ShIs—5
(UNIT—S5)
T BT & ol ? 3

() THIfeel® 3R HCN & fHsTo7 &l &l aw el

# 9 yarfed fear Srar 2
(i) fIaETee W FowrRE el & fohaT o 2|
(i) TREM &1 AfsTm 9 Tedleld @ AT T
fopar Srar 2|

What happens when ?

(1) A mixture of acetylene and HCN 1is passed
through red hot tube.

(11) Quinoline reacts with fuming sulphuric acid.
(111) Pyridine is heated with sodium and alcohol.

P.T.O.
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fr=IfeRaT 1 s - 3

() RIS, UTsRIel &) 3veT 3rfie &Ry BIaT |

(i) USRI, Ui @ fbdfel QN1 @) TR U8R
AT T |

Explain the following :

(1) Pyridine is more basic than pyrrole.

(i1) Pyrrole behaves both like amine and phenol.

3perar

(Or)
ferfeiRag ATl & O Togdg @ e
aifdfspar forRRau - 3

N NN o

() 2, 4-SEASSIYARISE (DNFB)
(i) IRIT ESSITSS
(iii) IR U Begiss

Give the chemical reaction of glycine with the
following compounds :

(1) 2, 4-dinitrofluorobenzene (DNFB)

(11) Barium hydroxide

(iii) Lithium aluminium hydride

o-THHT 3FA @I & ? J[eTHIR USTeldel Hel o
§RT Biel Uell™ T 39 ¥ R ? 3

What are a-amino acids ? How will you synthesise

phenyl alanine by Erlenmeyer Azalactone
synthesis ?

8,550





